C Assume 100¥% efficiency 1 Primary

Turns—Ratio = 14.8:1 T -

Voltage across RL = _______ Volts

48V RMS RL = 3.2 Ohms
Current in the Primary = _______ amps rfvwwnhl
Reflected Zo = _______ Ohms l l I
W x Y z
Secondary
Turns—Ratio = 2.2:18
L Assume 100% efficiency 1
Voltage across RL = ______ Volts 01 D
115Y RMS RL = 4.8K Ohms
Primary
Current in the Primary = _______ amps

Reflected Zo = ______ Ohms | l1isvac 115VA 115VA
I !

W X Y
Secondary

Turns—Ratio = 1:1
C Assume 92% efficiencw 1

Current in the Primary = _____ amps

Voltage across RL = ______ Wolts
48V RMS RL = 3.2 Ohms A B C D
Current in the Secondary = ____ amps ) T
Primary

Reflected Zo = _______ Ohms M e e LT

220vAC l 220VAC l 220VAC

Turns—Ratio = 4.5:1 A B c D
C Assume 100¥ efficiency 1 Secondary
Voltage across RL = ______ Volts (RMSD
isvy P-P RL = 3.2 Ohms
Current in the Primary = _________ amps (RMSD
Reflected Zo = ______ Ohms
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